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. Write your Roli Number in the space provided on the top of this page.
. This paper consists of one hundred (100) muttiple choice type of questions. All questions are compuisory.
" At the commencement of examination, the question bookiet will be given to you. In the first 5 minutes, you are requesied to open the

jet.
. Each item has four alternative responses marked (A}, {B), (C) and (D). You have to darken the oval as indicated below on the correct

. Rough Work is to be done in the end of this bookiet.
. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except for the space

. You have to retum the original OMR Answer Sheet to the invigilator at the end of the examination compuisorily and must not carry it

. There shall be no negative markin

" uflanedl siztcod WA YAyYRReL e wudil yan wia () BRe enae duR unyst el WA REPaaud AR v udlag

ydls yx i uR vae Rseu (A), (B), (C) wA (D) vl UG B, Y WA wetololl ac (oval) A Il vilde GELeR Yol

Instructions for the Candidates

bookiet and comptilsorily examine it as below :

() To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet without
sticker seal and do nat accept an open booklet.

(i) Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Faulty bookiets
due 1o pages/questions missing or duplicate or not in serial order or any other discrepancy shouid be got reptaced immediately
by a correct booklet from the invigilator within the period of 5 minutes. Afterwards, neither the Question Bookiet will be replaced
nor any extra time will be given.

(i) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR Answer Sheet
Number should be entered on this Test Bookl :

response against each item.
Example: (A> @ (C> (DD where (B) is the correct response.

place other than in the oval in the OMR Answer Sheat, it will not be evaluated.

aliotted for the relevant entries, which may disclose your identity, or use abusive language or employ any other unfair means, such as
change of response by scratching or using white fluid, you will render yourself liable to disqualification.
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with you outside the Examination Hall. You are however, allowed to carry original question booklet and duplicate copy of OMR Answer
Sheet on conclusion of examination.

. Use only Blue/Biack Ball point pen.

. Use of any calculator or any electronic devices or log table etc., are prohibited.

. in case of any discrepancy in the gﬁglish and Guijarati versions of questions, English version will be taken as final.
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PERFORMING ARTS
Paper —-1i

. Which period is known as ‘Golden period’

with reference to the arts ?
(A) Shung period

{B) Gupt period

(C) Naag period

(D) Harshavardhan period

. Who is the author of ‘Cilappadikaram’ ?

(A) Kumbhakarna
(B) Htango Adigal
(C) Dhananjaya

(D) Kumarswami

. “Natan Bheda® is defined in “Abhinaya

Darpan” as follows :

(A) Natya — Nritta — Nritya
(B) Natya and Nritta

(C) Nritta and Nritya

(D) Tandava —Lasya — Niritta

. Which text describes the term

‘Arangetral’ ?

(A) Manimekalai
(B) Skandpuran
(C) Cilappadikaram
(D) Manu Smriti

. Aprehistoric bronze sculpture of “Dancing

girl” was found in which place ?
(A) Mohenjo-Daro

(B) Takshshila

(C) Patan

(D) Modhera

1. scuvll ol dealdl sl st ‘Yool sl
dﬂ%_mgﬂcﬂ D 7
(A) 92 st
(B) et 51
(C) =laL sl
(D) evatlel st

2 ‘RAElSRH ol Aus 5L B ?
(A) soisl
(B) Sl wsloct
(C) st
(D) §HR el

3. “w@ota e QU 1 ‘et et AE’ oA Ywoul
celeaul 8.
(A) oligdl = ofdl — ol
(B) ol ol ojtl
(C) eirt el ofedd
(D) clisd — AR — ajxt

4. sl oja Wi wddget ofl wugglA el
& ?
(A) 1w
(B) WEYAQ
(€) Rleawdlsizu
(D) Mo ¥YA

5. uilel@s st oll ‘ot st &l ol
stz Yl sau o uR Holl vucll ?
(A) & — #l-€5
(B) cailblet
(C) wew
(D) HaRL

RN
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10.

1.

. Who took the form of “Brihannala” in
Mahabharat ?
(A) Bheem (B) Arjun
(C) Nakul (D) Sahdev

- Fugdi and Lamp dance belongs to which

- ‘Rouf' is a folk dance of which region ?

In which of the following works of Kalidas,
he mentions females of Gujarat as
‘Lasyottama Gurjari’ ?

(A) Kumarasambhava
(B) Meghaduta

(C) Ritusamhara

(D) Raghuvamsha

region of india ?

(A) Andaman and Nicobar Islands
(B) Goa

(C) Dadar and Nagar Haveli

(D) Puducherry

(A) Uttar Pradesh

(B) Himachal Pradesh
(C) Uttarakhand

(D) Kashmir

Which is the martial art form of Manipur
among the following ?

(A) Chhau

(B) Thang Ta
(C) Pung Cholam
(D) Kalaripayattu

Which is an exclusively women’s dance
of Punjab ?

(A) Karthi

(B) Bhangra

(C) Giddha

(D) Phalgun Daph

10.

11.

et ofl B2l w2 ‘ctrelciay oA
ofl GeAul SIClleld 56 2uott M 52 B 2
(A) SHRYMAH

(B) AUEd

(C) BguslR

(D) Rycial

HELRURA ML ‘YA of 23y A
ly &d?

(A) elln (B) (afat
(C) ol (D) ustq
. 88 el U ol @R ot saul YR
ol B ?
(A) visHlet AA [ASlaR 2ty
(B) alleul
(C) ELER uaA o1 sl
(D) Yg A

. Ry sl AA o] Aoyl B ?

(A) Grirutal

(B) Briua ya
(C) GrlRuvis

(D) sl

o{lAett U4l 52 MRYR of sl 208
(cdslas sou) 3y & 7

(A) BI6

(B) aiot at

(C) Y2l AN

(D) scufluay

53 UL of ol 55ct =lRA 12 D ?
(A) sLell

(B) eUaist

(C) oltal

ESGEY
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12.

13.

14.

15.

16.

Chenda and Maddalam are the
accompanying instruments in which
classical dance 7

(A) Bharatanatyam
(B) Kathakali

(C) Kuchipudi

(D) Sattriya

identify the ritual dance drama from the
options given below.

(A) Swang
(C) Bhavai

(B) Ramlila
(D) Bisu

To whom the authorship of Kutiyattam
play Ascharyacudamani is attributed ?

{A) Kulashekhara
(B) Shaktibhadra
(C) Harsha

{D) Nilakantha

The Kannada play Mitra-Vinda-Govinda is
based on which of the following plays ?
(A) Ratnavali

{B) Naganandam

(C) Malavikagnimitram

(D) Urubhangam

Who among the following is considered
as father of theatrical form of Bhagavata
Mela ?

(A) Sidhendra Yogi

{B) Tirdhanarayana Yogi
(C) Sahaja or Saha Maharaj
(D) E Koji

12.

13.

14.

15.

16.

Ast el HEAH st sl ojet Hi
Guallal Wi Aeu 8§ ?

(A) HRclollZAUH
(B) sascll

(C) sRysl
(D) uBx

ofl Aot [Asel WSl s oyt e
Y5l WOVAL

(A) il (B) uclau
(C) &S (D) olly
sdlaugn otizs ‘suste] sl «ll

Ul Slal e B ?
(A) 5 AR

(B) alsaes
(C) &
(D) ollcass

sas olles Aa—ge-olde oflAotl USL
Slotl UR aetlRa B ?
(A) eetlacll

(B) altolelen
(C) HlAdsLoafx
(D) GzeiotH

aUOLAL ARG ol AU ol %ols o(lQoll
Q4 Slal Hiolcumi wA B ?

(A) R3on 2000

(B) [Qeetzrau 20l

(C) UE% WUCL UE% HEIRLY

(D) A5l

e
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17.

18.

19.

20.

21.

According to Bharata’s Natyashastra the
ideal apportionment of stage space is
known as

(A) Parikramana
(B) Kakshyavibhaga
(C) Yavanika

(D) Mattavarani

Who adopted the play Mrichhakatikam
into Nautanki form ?

(A) B.V. Karanth

(B) Bansi Kaul

(C) Habib Tanveer
(D) Ram Gopal Bajaj

Pick the odd one out in context of varieties
of Kaishiki Vritti.

(A) Narma

(B) Sanghataka

(C) Narma-Sphurja

(D) Narma-Sphota

In Madhyam Vikrusth Rangmanch, a
wooden partition wall separating the
green room (Nepathyagraha) from the
stage (Rangapitha) is called :

(A) Suddhadarsatala

(B) Saddaruka

(C) Vedika

(D) Sailaguha

Which of the following is not inciuded
in the 11 elements of Natya-Sangraha,
according to Natyashastra ?

(A) Nayika Bhed
(B) Abhinaya
(C) Pravritti

(D) Siddhi

17.

18.

19.

20.

21.

HRct olie2B YHIR 21U &3A
e et adl ad Adl caczan
ol g sdaual D

(A) ulRsHeL

(B) satauldewot

(C) aalist

(D) Hricuzell

4209551 olizsa o4l Al 518

Y 53 ?

(A) oll. dl. 5122

(B) ¢ill slet

(€) sollt ctotcl2

(D) AH AMWA oostoy

3Q8l gl ot ysten deeli Qun
[Qscua 32 -

(A) o3l

(B) dulds

(C) ol - ugx

(D) ol - 2§l2

HeAH (g 004U UR, Auga)s
wal 201Uls ol U wacl Qend
sl cussioll (Baue, sdauia -
(A) Ysedda

(B) SASELIS

(C) Alzst

(D) 3lco)e

stz el yHld), usi@Ra
HiYl 53 clect ollza — Al 12
decll 1l ulAre o9 2

(A) «uRlsL Qe

(B) u@ota

(C) ygf

(D) Rl
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22.

23.

24.

25.

26.

27.

From which basic or source Rasa,
Bhayanaka Rasa is derived ?

(A) Raudra {B) Adbhuta
(C) Bibhatsa (D) Karuna

The physical changes and movements
which communicate Sthayi Bhava
aroused in hero, are known as his

(A) Sanchari (B) Anubhava
(C) Vibhava (D) Natyabhava

Who expressed his views on Bhavkatva
and Bhogavada ?

(A) Bharata

(B) Abhinavagupta
(C) Sri Sankuka
(D) Bhatta Nayaka

Which one of the following is NOT the
concept of Sri Sankuka ?

(A) Samyak Pratiti
(B) Alaukika Pratiti
(C) Mithya Pratiti
(D) Sanshaya Pratiti

Who among the following has authored
the book ‘A Modern Book of Esthetics’ ?

(A) Erin B. Mee

(B) A. C. Scott

(C) Melvin Rader

(D) Sushil Kumar Saxena

Which one of the following is NOT a
theory which was advanced from the
point of view of the artist 7

(A) Imitation

(B) lHusion

(C) Idealised Reproduction

(D) Moralistic

22,

23.

24,

25.

26.

27.

sal HOL Y Hil, elets U
Rl & ?
(A) s

(C) et

(B) ugd
(D) 838

WRs WECld U EAUARL GlRL,
ollaUsHl Al YA el elaa
AURA salell yEa A g sdaa 8 ?

(A) A3l (B) visjoucl

(C) [Qeua (D) sllzueud
Gllelscel wel elolate UR 518l Wlcllotl
Hlcll A@casel sl ?

(A) &2

(B) u(Rlotciopet

(C) 30l eiss

(D) aig atlAs

Fusl@ld Hiell 565 (Qetasu sl
aigsall otel?

(A) wqas yldald
(B) wcl®s uldl
(C) Mean yfdla
(D) Az yldl

Fus@Mct Hiell st ‘w0 8ot o5 g
ARG Quts & ?

(A) SRet ofl. B

(B) aL.l. 282

(C) R(eAat 2SR

(D) YRl xR Usdal

SALSIRoU aR B oll VU 5L
ustlAMd Rgidel Qs el g0 ?
(A) Aag50

(B) leU¥

(C) auedaugl Ranwet

(D) Aldscu
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28.

29.

30.

31.

32.

Which among the foliowing forms of
knowledge is considered by Plato as
ideal and rational knowledge ?

(A) Comprehension of ideas
(B) Sense-perception

(C) Opinion

(D) Judgement

Bunraku is a puppet theatre of
(A) Korea
(C) Japan

(B) Indonesia
(D) China

Ramayana puppet theatre is famous in
(A) Korea

(B) SrilLanka

(C) Australia

(D) Indonesia

Kabuki Dance-Drama is a
kind of theatre form.

(A) Folk

(B) Classical
(C) Traditional
(D) Modern

A traditional Japanese theatre
consisting of a repertory of some 260
short plays, celebratory and usually
comic that are performed on a Noh
stage

(A) Buto
(C) Angura

(B) Kyogen
(D} Shinpa

28.

29,

30.

31.

32.

eAlAMA A sttotott stAiell su silata
AR gLt AULE U A5 HiotaH]
lcR] & 7

(A) [QuAell dney

(B) deouell al®

(C) uletwa

(D) Elw (¥xRo2)

‘Yollg o] saYdoll 304 B ?
() sl (B) s-AAR
(C) *ulal (D) wieSo

MR say ol o0 il Yvayd 9 ?
(A) 513

(B) @cist
(C) AR
(D) BeSlalRay

sty oyl olles

RAUHY wW3uU B,
(A) s

(B) auxlla
{C) wWyrald
(D) uyylls

PERS|

ollg 21U UR elwaldl, As UdUAdLd
stulell stz el Botl 21Uz
SR Aal ulole Yle Al

250 Ay olles B:

(A) 42l
(C) A3t

(B) s2oloy
(D) falue
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33.

33.

There is an obiong bridge that
connects the stage with the mirror
room towards up right of the stage in
Noh theatre of Japan. This bridge is
called

(A) Foot path

(B) Music path

(C) Hanamichi

(D) Hashigakari

. Noh Theatre of Japan is a

(A) Folk Theatre

(B) Street Theatre

(C) Traditional Theatre
(D) Classical Theatre

Match the List — | with List — Il.

List -1 List-1l
A. Ramayan (I) Kaikasi
B. Mahabharat (i) Shikhandi
C. Bhagwat Puran (lll) Surya
D. Rigveda (V) Mannsukha

Choose the correct answer from the

following :

(A) A{lll), B(IV), C(I), D()
(B) A(IV), B(llN), C(1), D)
(C) A(), B(l), C(V), D(IlI)
(D) A{ll}, B(N), C(), D(Iv)

33.

34.

35.

aulet ofl olle 22HAU UR RAA A5
AsRRY Aq B AL 201Q
oll oLl (22 31 WA %13 B. u
Ad o 9 sdad B?

(A) g2 W
(B) dolld ua
(C) sloul=2Al
(D) aloust3l

oUlot oll olle VHU ol Y sdcllet ?
(A) clseuzd

(B) Adl-ues

(C) uuURdLld BA2R

(D) euzlla @Ae?

YRA-1 ol YRA-2 W At 53

YR -1 YR -2
A. ML (1) 35l
B. H&leurd (i [Qwis
C. aualad Yl ny yd
D. #314¢ (IV) Hetyu

Rual@Md [@QscaHiall vl saiw
I 7

(A) A(I), B(IV), C(lT), D(l)
(B) A(IV), B(il), C(}), D(Il)
(C) A®), B(I), C(V), DIl
(D) AQI), B(IN), C(l), D(IV)

]
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36. Match List — | with List — Ii. 36. Y- ol YRA-2 wd At s
List — I List -1l YR - ¢ Y& - 2
A. Vidyadhar (I) Sangeet A [QautR otwd@ (1) Aolld Yot
Gokhie Subhadra
B. Kaka Saheb  (Il) Padgham B. 5L &0l () Usux
Khandilkar RUEEEE
C. Arun Sadhu (1) Suvarnalata C. 238 Ay (M) Yasiad
D. Anna Saheb  (IV) Manapman D. AAUSH (IV) Hlet WUMLal
Kirloskar (Bales?
Choose the correct answer from the [Plc(@b @seqQuigl Al s
following : kel -
(A) A(l), B(N, C(II), D{V) (A) A{l), B(II), C(lu), D(Iv)
(B) A{ll), B(ill), C(IV), D(I) (8) A, BN, C(Iv), D()
(C) A(IV), B(l), C(il), DY) (C) A(IV), B(I), C(), D)
(D) A(IIY), B(IV), CU, D(I) (D) AN, B(IV), C(lI), D())
37. Match List — | with List — II. 37. YR-1 o YRA-2 wd At 53
List—1 List -1l YR -« YR - 2
A. Vaktrapani (i) Testingbyhandbeat A asawell () stasll v
the different drums vl wauga
dudel /
uRel
B. Sanghotana (ii) Deciding the B. tildet (i) dletoll Rl
rhythm YUl oy 54
C. Margasarita(jii) Separately tuning C. R (i) augt Aol
the instruments WA YR
Aaaal
D. Asarita (iv) Singing wit.h D. 2 (iv) outet of cuelzix
accgmpamment for ad teioll uﬂ&{@,l
testing
Choose the correct answer from the [Fusl@Qld [@seqaisl ALAL
following : ol L.
(A) Agi), B(iv), C(iii), D(i) (A) A(ii), B(iv), C(iii), D()
(B) Afii), B(ii), C(iv), D(i) (B) Afiii), B(ii), C(iv), D(i)
(C) A(iv), B(iii), C(ii), D(i) (C) Aliv), Biii), Cfii), D(j)
(D) Aiii), B{i), C(iv), D(ii) (D) Afiii), B(i), C(iv), D(ii)




38. Match List — | with List — II.

List—1 List -1l
A. Vyayoga (i) It should relate to
the love affair with
a courtesan and
incorporate the
actions of traders,
flins and persons of

an inferior nature

B. Bhana (i) Popular hero with an
exalted geneology.
Fult of confiict and
fighting

C. Prakarana (iii) A two actor play with

13 limbs or parts

D. Vithi (iv) A single character
play in which the
character narrates
his personal

experience

Choose the correct answer from the
following :

(A) Afiii), B(ii), C(iv), D(i)
(B) Aii), B(iv), C(i), Diiii)
(C) AGv), Biii), C(ii), D(i)

(D) Aii), B(i), Cfiii), D(iv)

38. YR -1 ol YR -2 WA AAC.

YRl - 1 YR -2

A. oL (i) BHL A1 aRls
A YH ¥oiy
Alal Al clal

8185 AU, siu
Agu A [t
ysldetl cals
ail stailotl
LA 8l

B. cuel (i) ¥ e wa cstesedl
eRY 8l B
dall Boll oil2s
(Qadct couctoll
Ll gt

(iii) % 13 Vol
Qeuawd & s

®HL ol elld
Y WA B

D. (el (iv) As wBa sues
FUL WA Weltsll
A5 Bojeiclle]
il 52 B

C. Us:t

ol Aot Ul A wellol UHE $3A:

(A) Aiii), B(ii), C(iv), D)
(B) Aii), B(iv), C(), Diii)
(C) A(iv), Biii), C(ii), D()
(D) A(i), B(i), Cfiii), D(iv)
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39. Match List ~ | with List - II.
List -1 List - i
A. Salabhanjika(i) A wooden railing
B. Mattavarani (i) A cavity, hole,

opening

C. Kuhara (iii) A cord

D. Rajju (iv) A sculpture of a
young girl under
a tree in happy
mood

Choose the correct answer from the

following :

(A) A(iv), B(i), C(ii), D(iii)
(B) A(iv), B(ii), C(iii), D(i)

(C) A(iv), Bii), C(i), Diii)
(D) Aiii), B(i), C(ii), D(iv)

40. Match List — | with List - II.

List-1 List -l
A. Natya Rasa — (i) Bhatta
Bhojya Rasa Nayaka
B. Tadrupa (ii) Bharata
Anusandhana
C. Chitra-turaga  (iii) Bhatta
nyaya Lollata

D. Sadharanikaranafiv) Sri Sankuka
Choose the correct answer from the
following :

(A) Afiii), B(iv), C(ii), D(i)
(B) AGv), B(i), Cfiii), DJii)
(C) Alii), Biii), C(iv), D(i)

(D) AG), B(i), Cfiii), D(iv)

39. YR -1 0l YR -2 WA AaA.
YA - ¢ YR - 2
A cil@st () Assiell 538
B. HaclRell (i) QReunl, Bs, Goizet

C. 562 (iii) ER$

D. %% (iv) s oA As
yol A
53lof [Qeu

ol Aetl UGl A weliol UAE 53
(A) A(iv), B(i), C(ii), Dfiii)
(B) Aiv), B(if), C(iii), D(i)
(C) A(iv), Bii), C(i), D(jii)
(D) Afiii), B(i), C(ii), Dfiv)
40. YR-1 o YR-2 WA QAL

YA - ¢ YR -2
A. ;tla?R%l — ol (i) @lg oll2Ls
A

B. dE3U uajUtllel (i) alzdl

C. R - qrat (i) &g A2
o2fl2l

D. aaellset  (iv) sl eigs
olAotl WSl AR il UbE 53A:

(A) Aiii), B(iv), C(ii), D)
(B) A(iv), B(), Cfiii), Dii)
(C) Alii), BKiii), C(iv), D(i)

(D) A(), B(i), C(iii), D(iv)
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41.

42,

Match List — | with List - II.

List -1 List -
A. Vitarka (i) Siddhi
B. Vepathu {ii) Vyabhichari Bhava
C. Daiviki (iii) Atodya
D. Tata (iv) Satitvika Bhava

Choose the correct answer from the
following :

(A) A(iv), B(ii), C(i), D(iii)

(B) A(ii), B(iv), C(iii), D(i)

(C) Alii), B(iv), C(i), Dfiii)

(D) A(iv), Biii), C(ii), D(i)

Match List — | with List —II.

List -1 List -l
A. Dance drama of (i) Topeng
Bali
B. Traditional theatre
forms that grew from

puppet theatre in

Java and Bali (i) Sanghyang

C. The Balinese trance
performance

D. Masked dances of
Java and Bali

(iii} Wayang

(iv) Gambuh

Choose the correct answer from the
following :

(A) A(iv), B(iii), C(ii), D(i)

(B) A(i), B(ii), C(ii), D(iv)

(C) A(ii), B(iv), C{iii), D(i)

(D) A(iv), B(ii), C(i), Difiii)

41, YR-1 ol YR-2 wa Aadl.

Y@ - 4 YR - 2
A. @Qds (i) Rl
B. Auy (i) canfelul oue
c. tlad (i) 2z
D. et (v) als euat

ol et US| WA waled UAE 52A:

(A) A(iv), B(ii), C(i), Diii)
(B) A(ii), B(v), Cfiii), D(i)
(C) Aii), B(iv), C(i), Diiii)
(D) A(iv), Biiii), C(ii), D(i)

42, YRA-1 ol YR-2 W Aadl.
YR - 9 YR - 2

A. oiclle] ojeat su2s (i) Aldol

B. WRURLlcl alted
AU B il ol

suellmi yetofl
stouniell Geolcaut
&dl.

C. cicllow e i) aadal
YEglot

D. otcll Aa olcdl
all HERL ojc

ol Aott WSl LA Sl URE SR

(i) lo=ilaL

{iv) siye

(A) A(iv), Bii), C(ii), D(i)
(B) A(), Bi), C(iii), D(iv)
(C) Aii), B(iv), C(iii), D(i)

(D) A(iv), B(ii), C(i), Diii)
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43.

Statement (A) : “Karma Dance” is
performed by the Tribals of Madhya
Pradesh, Chattisgarh and Uttar
Pradesh.

Statement (B) : The name of “Karma
dance” is derived from the tree named
‘KARMA'.

Choose the correct answer from the
following :

(A) Both (A) and (B) are true

(B) Both (A) and (B) are faise

(C) (A) is true and (B) is failse

(D) (A) is false and (B) is true

. Statement (A): The urban theatre of India

only partially refiects the fundamental
features of Indian culture.

Statement (B) : By and large, it remains
imitative. It tries to ape the conventions
of the western theatre.

Choose the correct answer from the
following :

{A) Both (A) and (B) are false
(B) Both (A) and (B) are true
(C) (A) is true and (B} is false
(D) (A) is false and (B) is true

. Statement (A) : In the Desi type of art,

its science is a conscious study.

Statement (B) : In the Marga type of art,
science is a part of it and is not studied
separately from art.

Choose the correct answer from the
following :

(A) Both (A) and (B) are true

(B) Both (A) and (B) are false

(C} (A) is true and (B) is false

(D) (A) is false and (B) is true

- 5l A ‘sHl ojcl’ Hray e dluole

vl GrirY ot ol R crzlla ge2t
Y saltMi 2w B,

seot ol ‘sHU ollMoll gat Hiell
‘sHl ojl’ of ol USY B,

ollAott USl AR il UbE 5

(A) A el oL olel utAL
(B) A ual o oial Vel
(C) 3t AR Aal o W2
(D) 3L Wl Al ol ALY

. 5%t A Rd ol Al 2o

eurdla Argldet oo daElR
Al A yAllAa s? B.

s¥ol ol: Hl2l (L A el D daul
A WLl 20106(l 3810 ol atsct
scloll Y2 52 B,

o(lAelt Ul A wcuet Ude 53 -

(A} 3 ol ol olal viial
(B) L uial o Olal ULUL
(C) L UY AR 6L W2
(D) L Wl Bl ol ™Y

. %l A 2l sclotl YsAH], Aol

Qstiotoll Yeust weayU B,

sl of: WL Ysiell stol, @Qsuat

dell A @Ol & ol Aol sl
WA BEAY S Al otell

o{lAott WSl AW wcliol UrE 3

(A) W Bal ol ol AL
(B) ¥ ual ol sist w2l
(C) ¥ ALY Aol 6l Wl
(D) A vz uUA oL WY
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46.

47.

Statement (A) : In natya, nritta is
sometimes useful as a beautifying
factor, termed as ‘Sobhahetutvena’.

Statement (B) : in natya, nritya is
sometimes useful in expressing bhava
introduced through the topic, termed as
‘Anukaratmakatva’.

Choose the correct answer from the
following :

(A) Both (A) and (B) are true

(B) Both {A) and (B) are false

(C) (A)is true and (B) is false

(D) (A) is false and (B} is true

Statement (A) : In Natyashastra, the
chapter Charividhana deals with the
simultaneous movements of feet, thigh,
sides, shank and hips.

Statement (B) : The chapter on
Gatiprachara describes the ariel and
earthly mandals which are performed
with the combination of charis.

Choose the correct answer from the
following :

(A) Both (A) and (B) are true

(B) Both (A) and (B) are false

(C) (A) is true and (B) is false

(D) (A) is false and (B) is true

46.

47.

5%l U: olledMl ofcdl SARE YERdll sll

ulRen ddly Gualoll awa 8, B

‘Nl dAer ddd woudant 1a 8.
st Ol ollel Hl UofslAMS 313
ALl (A2 alRL 2% SAAE ellatal

s 5l W2 ofd sURs Guala(l
L .

ol Aoyl UL LA wellol UHE 52 -

(A) W ol 6t Glal AL
(B) w vlal o oisl uliat
(C) 2 UY U ol WG
(D) L ullg el o ULY

sl A oliAABML AR U w12
oL, iy, ol bldal & uaL ol
SCtolUCel UR AUURA 8.

sl o; OUAYAUR UR BURA kA
Hi 2us12ll val o s aglel B ¥

AR ol d2dowat &l scuni 2414 8.

o{lActl US| WA Fellod UdE 53 -

(A) ¥l uial ol cial LA
(B) A sl ol cial vilet
(C) ¥ UY wal of vllg
(D) 3 Vg wal ol Uy
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48.

49.

Statement (A) : According to Bhatta
Lollata, primarily Rasa is in the
impersonating actor and only secondarily
in the original historical character who is
represented on the stage.

Statement (B) : The actor identifies
himself with the historical character and
therefore is able to unify the elements of
his experience.

Choose the correct answer from the
following :

(A) Both (A) and (B) are true

(B) Both (A) and (B) are false

(C) (A) is true and (B) is false

(D) (A) is false and (B) is true
Statement (A) : Aristotle advocates that

emotions as such are bad for mental
equilibrium.

Statement (B) : Aristotle says that it is
rather conducive to men’'s mental or moral
health to starve and stifle the emotions.

Choose the correct answer from the
following :

(A) Both (A) and (B) are true

(B) Both (A) and (B) are false

(C) (A} is true and (B) is false

(D) (A) is false and (B) is true

. Statement (A) : Masks are not used in

Kabuki performances.

Statement (B) : Kabuki Theatre is known
for Mask-makeup.

Choose the correct answer from the
foliowing :

(A) Both (A) and {B) are true

(B) Both (A) and (B) are false

{C) (A) is true and (B) is false

(D) (A)is false and (B) is true

48.

49.

50.

sUel U Glg ClleEe WofAR, ™
Ya®ms {la wolel uieL sl
Al 8la B, ua olla/Bdla fla
MO AR WMl da d 2 Hu wR
Y U B,

saUst of: A Wt ALstRs
A HAHA B ol Al Asll Bajeicoll
ctecllal WS SAUHL HAH B,

ollAotl WSl AL clled UrlE 53

(A) A Ua o ool ALUL

(B) 2 Aual ot vicl vllat

(C) L ALY ol ol Wl

(D) L Wig el ol ALY

so°ol A: ARW2A BHAA 52 D Y
Rl HictRls didetet HI2 0oL o2l
5ol o: AR 53 B & o U ua
ARl eotac] A yulatt HisiR@s
wgal AlAs U HIZ Boig@ D,

ol Aot Ul WA et ue 53 -

(A) ¥ uol ol oist AL

(B) A ual ol 6lal weL

(C) WY ol ol W2

(D) A Vg wal ol ULy

sol u: 510481 ofl Yaqlani
HELRL ol Guallal scUHl el ool
sl ol 5l0f8l 200U A HARL

@l Queu d:l3 o B,
ollAetl USL A2 el UbE 5
(A) L el o Glot yLAuL

(B) A ol ol Gial vilel

(C) ¥ UY Al o WG

(D) 3 Vg v ol WY
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51.
52.

53.

54.

55.

56.

Who is the Author of ‘Bhavaprakasana’ ?
(A) Bhanudatta

(B) Bharatmuni

(C) Nandikeshwar

(D) Saradatanaya

Who is the author of ‘Nritta Ratnavali’ ?
(A) Jaya Senapati

(B) Ashokmalila

(C) Sudhakalash

(D) Shrikanth

What is Akshipta Rechit ?
(A) Mandala (B) Sthanaka
(C) Chari (D) Karana

“Tenchap” Taal belongs to which dance ?

(A) Bharatanatyam
(B) Manipuri

(C) Sattriya

(D) Kathakali

‘Shioka and Shareer’ is the famous
production of which artiste ?

(A) Sachin Shanker

(B) Astad Deboo

(C) Manjusri Chaki Sarkar
(D) Chandralekha

Who can be called the father of modem
indian ballet ?

(A) Rabindranath Tagore
(B) Astad Deboo

(C) Sachin Shankar

(D) Uday Shankar

51.

52.

53.

54.

55.

56.

‘GLALY Sl oil UsUSR 5B B ?
(A) ellejElxt

(B) eRetylal

(C) olgldu

(D) 2WRElcsd

‘oftl Reollalcll’ oll UASIR 5L B ?
(A) e Aettuld

(B) wallss5UCA

(C) Yusc 9t

(D) 6

@R 9 & 2
(A) HsA
GELE

(B) lois
(D) s

‘AotUW dlel Sl ojct LA AsuAd

& ?
(A) H2cdollgaH

(8) HRWA
(C) R
(D) sascll

‘8ells Ual AR’ A Yualld ofcl AUl
Ul SCLsIR ol © 2

(A) ¥Rt 28R

(B) BcUE 3¢

(€) Hosll Wl uBsR

(D) 2UsQuil

ulylls acdla AA ol [ Sl
sdcA & ?

(A) =[Aosetial 2120

(B) cllE By

(C) dRt 2isR

(D) Gea 9182
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57.

58.

59.

60.

61.

“Sangeet Natak Akademi” was
established in which year ?

(A) 1954 (B) 1963
(C) 1953 (D) 1964

“Traditions of Indian Folk Dance”,
“Indian Classical Dance” and “Dance
in Indian paintings” are the books of
eminent scholar

(A) Bharat Sharma

(B) Kapila Vatsyayan
{C) Aacharya Brahaspati
(D) Brajvallabh Mishr

Martha Graham’s best known work is

(A) Human and Machine

(B) Colours of Rainbow

(C) Appalachian Spring

(D) Swan Lake

“Bhamakalapam” and “Gollakalapam”
are the items of which dance style ?
{A) Kuchipudi

(B) Kathakali

(C) Sattriya

{D) Mohiniattam

Who is known as the father of Russian
ballet ?

(A) Serge Diaghilev
(B) Nijinsky

(C) Michel Fokine
(D) Ted Shawn

57.

58.

59.

60.

61.

Aolla stles wisiedl’ ol 2@Uustl s
arlui ue ocdl ?

(A) 1euy
(C) 2eu3

(B) 1¢s3
(D) 1¢e9y

dlate s BBt Hs Sl
‘Bladast SAUULSA St WA “Slo™
Bot Blduel UBLERY 521 Yullcl
[@stat olt Y2l & ?

(A) et aul

(B) st claet
(C) A asruld
(D) aosacaat Hlsu

Hed et of vor Aelld sLH(RAUL)
53 & ?

(A) gHot Ao Hallet

(B) s Als il

(C) AuclRauet @oy

(D) wllet AS

CUHISALUH AL OVCALSULUN §E
ojcet Qlell ofl At B ?

(A) sAlysl
(B) suscll

(C) uBa

(D) Adellaign

ANt AQ ott At Al sleL s lld B ?

(A) ¥R Slawllaa
(B) Aol

(€) BAA §(3et
(D) 2s et
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62.

63.

64.

identify the digital fibrary of research from
the options given below :

(A) Sangeet Natak Akademi
(B) Shodh Ganga
(C) Shodh Sanchayan

(D) Indira Gandhi National Centre for
Arts

Match the foliowing List — | with List — Il

List —| List - It
A. Tanvi and (I) 16 (Sixteen)
Rupavati
B. Usha (If) Uttama
C. Bhoomi Charies (lll) Nartaki
Lakshana
D. Sita (IV) Lasya

Choose the correct answer from the
following :

(A)Y A(IV), B, C(), D)

(B) A(I1), B(In, C(Iv), D)

(C) A}, B(IV), C{l), D

(D) A(ID, B(IM, C(V), D())

Match the List — | with List —II.
List—1 List -l

A. Srimanta (I Geet Govinda
Shankar Deva

B. Tulasidaas (I) Pada

C. Jayadeva (i) Purush and

Prakrati

D. Narayanteertha (IV) Ramleela

Choose the correct answer from the
following :
(A) A(IV), B(lII), GG, D{l)

(B) A(ll), B(), C(I), D(V)
(C) A(I), B(IV), C(H), D()
(D) A(l), B(), C(), D(V)

62. (Aot Aseq USL daluet [Auaus

lyed WS ol

(A) Wl oltes usel

(B) 2l dlow

(C) A AUt

(D) 20 oitll Adtelet Aoz HR BUSH

63. YRA-1 ol YR-2 WA A 5.

YRl - = YR - 2
A. cocll 243 3uadl (1) 15 (Ho)

B. Gut (i) GetHL
C. ep{l udt iy sl cat
D. dlat (IV) L

ol Aot TS WA wcilor UAE 52

(A) A(IV), B(ll), C(), D)
(B) A(lll), B(l), C(IV), D(i)
(C) A, B(IV), C(), DI

(D) AQlI), B(it, C(IV), D(l)
. YR Al YR wd Andl
YA - 1 YA - 2
A. slaic sis? Ba (1) Al e
B. darlleldt () UE
C. wAL () Yy wa
ysld

D. siztagclld (V) el

ol Aot WSl AR %ol UHE 53
(A) A(IV), B(lIN), C@y, D()

(B) AQ), B(), C(), DAV)
(©) AQH), BQV), C(l), DQ)
(D) AN, B(), C(1), DOV)
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65.

Match the List — | with List — Il
List -1 List -1l
A. Nrithyodaya (I} Parwati Dutta
B. Darpan (1) Dr. Padma
Subrahmanyam
C. Kadamb (IH) Mrinalini
Sarabhai
D. Mahagami (IV) Kumudini
Lakhia

Choose the correct answer from the
following :

(A) A(I), B(Il), C(1), D(IV)
(B) A(ll), B(lil), C(IV), D(l)
(C) AR, BAV), C(Il), D(l)
(D) AQV), B(Il), C(t), D(Il)

Match the List — | with List — II.
List -1 List -1

A. Draupadi (1) Kumudini
Lakhia

B. Rhythmof life  (ll) Uday Shankar

C. Prakriti (1)) Senal
Mansingh

D. Yugal (V) Chandralekha

Choose the correct answer from the
following :

(A} A, B(I), C(1), D(IV)
(B) A(IV), B(l), C(I), D(il)
(C) AQUI), B(lI), CAV), D(l)
(D) AQI), B(I), C(1), D(IV)

65.

66.

YR -1 ol yRA-2 A Aa 53,

Y& - q YR - 2
A ol (1) wddl e
B. et (H) SL udll YoleueH
C. s€u My el wews

D. sl (1v) syl culle

oflAotl Ul WA %cllel Ye 53

(A) A(II), B(Il), C(1), DQV)
(B) A(ll), B(lil), C(1V), D(l)
(C) A(t), BIV), C(ll), D()
(D) A(IV), B(I), C(l), DI

Y- ol YRA-2 W AqdL.

YA - 1 YR -2
A. Quel () syl
clfau
B. Jlun g cudfs (1) Gea 9is
C. ysld () et
ol
D. o (IV) dsuy

ol Aot UGl A ol Urie 53\

(A) A(Il), By, CQ), DOV)
(B) AQIV), B(1), C(II), D(N)
(C) AQIly, B(I), C(IV), D()
(D) A, B(II), C(l), D(V)
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67.

68.

Statement (A) : Nandikeshwar is an
author of ‘Abhinayadarpanam’.

Statement (B) : ‘Bharatarnav’ is written
by Nandikeshwara.

Choose the correct answer from the
following :

(A) (A) true, (B) false

(B) (A)false, (B) true

(C) Both (A) and (B) are false

(D) Both (A) and (B) are true

Statement (A) : During the Mughal
period, “Salami” and “Aamad” were
introduced in Kathak Dance.
Statement (B) : During the Mughal
period, “Tillana” and ‘Varnam’ were
introduced in Bharatnatyam.
Choose the correct answer from the
following :

(A) Both (A) and (B) are true

(B) Both (A) and (B) are false

(C) (A) is true and (B) is false

(D) (A) is false and (B) is true

Statement (A) : The fuli form of CCRT
is Centre for Cultural Resources and
Training.

Statement (B) : CCRT offers post
doctoral fellowship.

Choose the correct answer from the
following :

(A) (A) true, (B) false

(B) (A) false, (B) true

(C) Both (A) and (B) are true

(D) Both (A) and (B) are false

67.

69.

sl 3 U@t ¥R ol 2URAL

ALBHR ©.
s8lel o : ‘Uil AE3HR 6l

AV W] B.
ol Dett A A ctiod UAE 5

(A) 3L ALY, ol vl
(B) vt Wlg, ol WY
(C) w wA ol sial W2l
(D) L wa ol ol AL

sl W YUA SLOHL 5US ojRAH
UAHD L e’ ofl AU UB.
sol Ol: HUA SLOHL GRAsUSAH
oMl ‘[ectiow dan ‘asl ofl
AL UY.

(ot AL WA cllol UAE A

(A) 3 e ol olat A B.
(B) 3t sl ol ial Wlat B,
(C) 3 WY Ual ol W B.
(D) A WG AA ol Y B.

satol 3 AL AL 2. &l Y3 oM Ao

AR seuRA AAARY Ues 2ollo 8.
sl oL: Ll uR. &l Wik Ssed
sclleltu 2wl 8.

o(lAotl USl A wallet UHE 53U,

(A) LWy, «vllg
(B) v ulg, ol Uy
(C) ¥l ol ol ol ULAUL
(D) 3t sl oL oist WleL

o
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70. Statement (A) : The NEP 2020 has
been a milestone in terms of bridging
the devide between the curricular and
co-curricular subjects under which
dance and other arts had till now been
marginalised in the education system.
Statement (B) : NEP 2020 stands for
New Education Policy 2020.

Choose the correct answer from the
following :

(A) Both (A) and (B) are true

(B) Both (A) and (B) are false
(C) (A)is true and {B) is false
(D) (A) is faise and (B) is true

Read the following passage and answer the
questions given below (Q. : 71-75) :

When Markandeya told king Vajra in
Vishnudharmottara Purana that he must leam
the art of dance before he learnt the art of
icon-making and the art of music before he
learnt dance and that he must master tala
before he attempted to learn music, the Rishi
was not being merely fastidious, he was stating
a fundamental principle of the Indian arts. In
Indian aesthetic theory the interrelationship
of the arts has been known and recognised
not on the level of the aesthetic experience
alone but also on the level of technique. The
concept of tala has been fundamental to alt
Indian arts.

71. Who wants to iearn the art of dance ?

(A) Markandeya (B) Rishi
(C) Vishnu (D) Vajra

70. sUsl 3 V.8 Ul 2020 A wWoeAUSH
ol s UeARS AN Aot
(Qaual g2 sclletl Aeelui As
HuRe3u e B, 3 Boil 3601 ojl tal
el 50U AR YUl Blawl yeudlni
silRlauMl wdcus o sdl,

5%t o: A WUl 2020 Aed ad]
Rlawl (@ 2020.
ol Aot UG WA ey uAe 53\,

(A) 3l uat o oiat LA
(B) ¥ ual of olal Wal
(C) L WY Aol o YW1
(D) L WG Aol ol WY

Blst (A 55 ai=l Aoll QA 20
Ygllell awelio] 1l

(Qngedint YRAGL ajuiR wa?
M5 A% A%y A 56 3 YAsou 2wl
Udctl del ajetsou 2lluicll usd.sjuisc
2luictl udett A dedl sou el usdl, da
At elwauell yauy st udel e
[Ayetet Anacdl us. B 1 iR o
ectt, Aull Rl sclell Yaod Rsid
FRUAAl sctt. el e Raidni
sclullell UidRAsitR Aedctell wejeiaa
AR % AOMAAM] AUQA B. U dsellsol
R cletofl Qeuctotl camt ezl seuzll
H2 Yoo 28 B.

71. 5l ofet llwcy ML D ?
(A) HEod2l (B) »[
C) Qwy (D) ax

e
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72.

73.

74.

75.

76.

Vishnudharmottar Puran mentions
about

(A) Theory of interrelationship of the
aris

(B) Theory of Indian aesthetics
(C) Theory of learning of dance
(D) Theory of learning of tala

Which concept is fundamental to all
Indian Arts ?

(A) Absurdity (B) Dissociation
(C) Zen Aesthetics (D) Tala

According to Markandeya king Vajra
shouid learn tala before learning

(A) Dance
(C) Music

(B} lcon-making
(D) Painting

What should be learnt before learning art
of lcon-making ?
(A) Tala

(C) Dance

The improvised Greek folk theatre
performance without masks is called

(B) Music
(D) lcon-making -

(A) Muff
(C) Libretto

(B) Mimus
(D) Oleo

. Which one among the following

organizations was established by
Jaswant Thakar and Dina Pathak
in Gujarat ?
(A) Natmandap
(C) Nartaki

(B) Natmandal
(D) Nagina

72.

73.

74.

75.

76.

Qe YAQ 1l Boll GeAut 8.

(A) sSICUvAoll iR Aol oll
Reid

(B) euclal Wedaud ol Rgic

(©) ot [Queusd Rgia

(D) dlet Rwclal Rigict

M euRcla sculloll Yoo
yRscuall 86 B ?

(A) 2L
(C) Dot Aledouat

(B) Qe
(D) dlcd

Hibod 2wl A% A%l g Al
udal it olwdl g,

(A) 9l (B) yla sou
(C) ol (D) @asou

y{dsal allwal udell g 2llwg AgA ?

(A) et (B) dollat

(C) et (D) yldsau
HAR <R sl 2adl lly Afls
ALS olled Y50 A g sdatHl
el B 7
(A) M8
) dlaal

(B) HEYR
(D) el

. JpoRAML wUCc 8152 AU Rl uss

gl2l 1A UAl 58 Areliell 2eUall
scLHL AL ?

(A) elgHsU
(C) =tdsl

(B) oteHsct
(D) stolloit
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78.

79.

80.

81.

What is the technique in which the
performer evokes a personal memory
of an emotion similar to the emotion
that character feels ?

(A) Empathy

(B) Intellectual Memory

(C) Emphasis

(D) Emotional Memory

What is the term used for a group in
the audience who applaud fo give the
impression of great enthusiasm for the
performance ?

(A) Cleat
(C) Claque

(B) Click
(D) Chorus

What is MISE-EN-SCENE according to
Antonin Artaud ?

(A) Magical beauty of costumes taken
from certain ritual models

(B) Dazzling lighting effects

(C) Departure of all theatrical creation,
that the ideal language of the theatre
will evolve

(D) Rhythm of movements familiar to
everyone

Who said “return to theatre to an idea
of the physical understanding of images
and the means of inducing traces, as in
Chinese medicine” ?

(A) Jerzy Growtouski
(B) Antonin Artaud
(C) Yvan Goll

(D) Alfred Jarry

78.

79.

80.

81.

ustell enctet2ell Hadl wuadl
5L Waolell (A gLt eua

waUsellsll ugldat 9 53 B 2

(A) ualageild (Aufa)

(B) ol WA (s2AsYuA A
(C) @R

(D) ettcoites 3¥ld

Al yaslell uys 3 ¥ Yedot oll
Gl atilral dlofla Wi 8 aal
9| sdcla ® ?

(8) sclls
(D) s1RY

(A) sAe
(C) 5Qs

RNotloflot wLAls VlofUR “PB- Aot

Aot 9 & 2

(A) WS Wedzysct Azt wlbls
otijoll WYl Aatii vl 8.

(B) AHSELR Ystal [yt

(C) M otteslat yoe Qe A Q
210 Mell vue ol elrutell @t 2A.

(D) &Ctot uctaloll 2t 3 Boti2ll A
uRRld B,

Aol gculoll B RAA Qs
UHAEL el Fauell YRA saien
Hieapllott [z W2 201g@ s
WRel " A 5Q 56 B ?

(A) % N

(B) dloloflol 2acls

(C) sdlot 20

(D) 2icks R
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82.

85.

Who is the Present Director of National
School of Drama ?

(A) Sanjay Upadhyaya
(B) Chittaranjan Tripathi
(C) Pankaj Tripathi

{D) Abhilash Pitlai

. Blocking the actors on the stage is the

part of

(A) Reading the Text

(B) Preparing the Characters

(C) Creating Stage Compositions
(D) Stage Conflict

. Identify the odd one in context of Greek

Unities.

(A} Unity of Time
(B) Unity of Plot
(C) Unity of Action
(D) Unity of Place

Parikramana (Encompassing the stage)
in Indian theatre is a method deveioped
to change

(A) Characters
(C) Masks

(B) Locale
(D) Costumes

. In globe theatre the musicians sit and

ptay music on the

(A) Front of the Stage

(B) Orchestra Pit

(C) Second Level Baicony
(D) Third Levei Baicony

82.

83.

84.

At e vlls SIHL ol Sletotl [RauHs

sloL 8 ?
(A) A Guitala
(B) Rrt2aset Awsl

(C) usw Qwél
(D) w@cuy Red

H2U YR otelell o0sal Boll euol ® :

(A) cllese] cliUet

(B) WAl & daur s2al

(C) 2dvtiu U WA dar sau
(D) Hu dud

ofls Ascloll ¥l Ay o udE 5.

(A) JREL vlg 2K
(B) YEEl ¥s w2
(C) YREl g U590t
(D) YEE g Ax

. uflsHel (s aadl ad) A ardla

o0dul 9 wecttcllell Ad B ?

(A) wall
(C) Hal

(B) &t
{D) Qale™t

oAl @321l Wollasi? el Adla

dlld A B A :
(A) Hu ol v

(B) CUAHE @M

(€) ezt A=A :3ul
(D) Al ARl AW
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87. Commedia Dell’ Arte usually was 87. s1dlan ¢ cucddizeud el meeell
performed with the help of Yrdd A B
(A} Readymade text (A) dark yed
(B) Improvised story (B) 9lly sauots
(C) Media projections (C) dsolldl Hitall s1l yauwl
(D) Stylised makeup (D) Aclloid 2ateut
88. Match List — I with List - II. 88. YR 1 ol YR 2 WA A AL
List -1 List - Ii YR - 1 10
A. Rasik Lal Parikh (I) The job A RRsdld Wlw gy u Ala
B. Badal Sircar (1) Sharvilak B. GUEE MRSIR (1) acllas
C. Doodhnath Singh (lli) Pagla Ghoda C. guola Rt (1) WL €St
D. Maya Rao (IV) Yamagatha D. yay 2a (IV) &l
Choose the correct answer from the o1 Aoy QS| A wellol UHE 83
following :
(A) A(IV), B(l), C(it), D(I (A) A(IV), B(), C(ll), D)
(B) A(l), B(II), C(I, D(IV) (B) A(l), B(ll), C(ln), D(IV)
(C) A(l), B(l), CUV), D() (C) A(ll), B(Im), C(IV), D(l)
(D) A(HN), B(IV), C(t), D) (D) AQ, B(VY, C(I), D(
89. Match List — 1 with List — II. 89. YRA-1 U YyRA-2 wd AaAL.
List—1 List— 11 Y[ - q YA -2
A. Balwant Gargi (1) Indian A sadd ol () s BlAz?
Theatre : ’
Tradition, gSlatet, sodleydl
Continuity
and Change
B. Som Benegal (I1) The Indian B. W Aaotet () Y 8ldauet BlAe?
Theatre
C. Adya Rangacharya {|ll) A Panorama C. el ot (1) 2 Qetl 1y
of Theatre in AUs @Ae?
India el Sledall
D. Nemi Chandra Jain (IV) ;I't:?atre in D. alx{l2ig ot (IV) @322 8at B2
ndia
Choose the correct answer from the ol Aot UGl A weol YAE 52
following :
(A) A{V), B(llIy, C(ny, DY) (A) A(IV), B(ll), C(l), D(1)
(B) A(ll, B(V), C(l), D(n (B) AQ), B(IV), C(l), D()
(C) A(Il), B(I, C(IV), D(1) (C) A(lly, BN, C(V), D(Y
(D) A(l), B(IN), TNy, DAV) (D) A(), BN, C(), DOV)




5

90.

1.

Match List — | with List — |l

List -1 List - i
A.Mahesh Elkunchwar(l) Lok Katha
B. Satish Alekar (1) Atma Katha
C. Ratnakar Matkari ({lil) Barrister
D.Jaywant Dalvi (IV) Mahanirvan
Choose the correct answer from the

following :

(A) AQV), B(ILy, Cy, D(1)

(B) A(ll), B(IV), C(1), D(Il)
(C) AN, B(IVY, C(h), D(IN
(D) A(IV), B(l), C(I1), D(III)

Match the List — | with List — il.
List -1 List-1i

A. ad lib. () Tosayaline
wrong

(Il) The character
an actor
assumes in a
play

{ll) Dialogue not
found in the
script

(IV) A stock
character of
wickedness in
morality plays

B. Muff.

C. Persona

D. Vice

Choose the correct answer from the

following :

(A) Adliy, B(N), C(N), D(IV})
(B) A(IV), B(l), C(N, D(Ill)
(C) A, B(V), C(1), D)

(D) A(ID, B(iY), C(1V), D(1)

90.

91.

YRA-4 ol YRA-2 W& Aqd.

YRl - 1 YR - 2
A, MBeL DGkl () Als sl
B. Al 2UASR (1) v s
C.Rell5R Hes3l (1 AR
D. %cd ecdl (V) Hallalyl

o Aot Ul WA osciiod Ule 53¢

(A) A(IV), B(IT), c(ny, D(
(B) A()), B(V), C(l), D(li)
(C) ALY, B(V), C(l), D)
(D) A(IV), B(1), C(lly, D(IIN)

YR-1 ol YyRI-2 W Aadl.
YR - 1 YA - 2
A As cla () ausel vl 539

B. H$ (I otesHl wEAl
% WA ol 460l
528 d

C. Wt () % UAHL dclE
8lclt atell

D. awfu (V) qQaclldl (d@s)

al2SlMi Erecliall
olloatn(els) Ut

ol Aol UL A il Ue $3A:

(A) AQ), B(), C(ll), DUV)
(B) A(IV), B(l), C(Il), D(I)
(C) A, B(IV), C(l), D(l)
(D) All), B(I), C(1V), D()
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92.

93.

Statement (A) : Pity represents the weaker

side of meiodrama fear the stronger.

Statement (B) : Perhaps the success
of a melodramatist will aiways depend
primarily upon his power to feel and

project fear.

Choose the correct answer from the
following :

(A) Both (A) and (B) are true

(B) Both (A) and (B) are false

(C) (A) is true and (B) is false

(D) (A) is false and (B) is true

Statement (A) : Gozzi maintained that
there can be but thirty-six dramatic

situations.

Statement (B) : Schiller took great pains
to find more, but he was unable to find

even so many as Gozzi.

Choose the correct answer from the
following :

(A) Both (A) and (B) are true

(B} Both {(A) and (B) are false

{C) (A) is true and (B) is false

(D) (A) is false and (B) is true

92. sel 3 el W AClstHLell aooll

cllogs] Yl 53 B, weey &l

s,
s8el o1 SELY HASIHIoW 25512 ol

USNAL Yud L wojetciaioll dau
gallactell Aol alsa u2 wulRd .

ol Aot Ul U ¥cyiot cul,

(A} 3 A ¢ olad WAL
(B) L s ol Giel vilat
(C) LAY oL Vg
(D) & Vg U oL Y

93. sool U: al2fla WREARQA 2R dzcll

8lal ok ud oNAflA vy suedlay
UREAARA wad 2wl

5ot of: AR atlesla uRRAM M tLatt
UQll ¥dHct Gotell url A J1ofl Racll
URRAM uatHi el Ay 24l

ol Aol WSl 2tA vatiol AL

(A) 2 ual ol sial LAl
(B) 3t el oL ofal Vel
(C) W WY ol ol Wl
(D) W Vg o ol ALY
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g94. Statement (A) : Plausibitity/Logical
approach is an objective of stage lighting

which is followed by most of the lighting-
designers all over the world.
Statement (B) : Without Plausible effect/
Logical approach, designing lighting on
stage is not possible.
Choose the correct answer from the
following :
{A) Both (A) and (B) are true
(B) Both (A) and (B) are false
(C) (A)is true and (B) is false
(D) (A) is false and (B) is true

95. Statement (A) : All the works of

Scenography across the world are
non-representational.

Statement (B) : Indian Scenography has
always remained presentational.

Choose the correct answer from the
following :

(A) Both (A) and (B) are true
(B) Both (A) and (B) are false
(C) (A)is true and (B} is false
(D) (A) is false and (B) is true

Read the following passage and answer the
questions given below (Q. : 96-100) :

When a white incident ray of light falls upon
an object, all its colours are absorbed by
that object except its true colour which is
transmitted to our eyes through the reflected
rays. Then only we perceive that object in its
colours. Since all the colour hues of white
light are dissociated and subtracted by that
object except its original one, it is termed as

94. sl 3l oS0/ AlFs wllon A
1A YsiaL Alwolioll s &g B % UHDY
(Al Hlateuotell ystal wlersl sl
WojACAUHL uLd B,
sot ol: offgo0A BUR / AllSs

WEOH [Qeotl HA YR YUslaL 20%etl
sl sl olell

o{lAet, UL w2 ciiol ALl |

(A) U A o ola AL
(B) ¥l Aol of tixd ulet
(C) ¥l WY ol ol WG
(D) 2 ulg wal o WY
95. 5ot b (AHUMR HL RALUS A AHH

sl YA ueyas ool el
st ol: elrcllal Refongl éRau
YR ustyas 8 B.

ofl Al UG WA ettt UAE A -

(A) Bl o il WA
(B) u Aol ¢ olal Wit
(C) u WY o oL VI
(D) 1 Wig A & WY

oA A 53\ aidl dett «{lA w0
ysllelt watot sl (U-¢s Ul 100):

AR B cdd UR YUSIAell UFE

ws@As (3200 Ul B, RUY Aol WAL 201
Rlana cud 290 A wetd grLetua 8, ¥
YAl B2el it uell 2l yaulRd
A B AR % WU A UELH A dott 00H
A Al lA. uFE ysiatell i 21921
wetd gizl [QurAdl dan sl glauell
Aal oltecaLSlett 200 AL VoML 21 8.
2L 290 ysldui 201, 2AWe, WS, 2Vinc
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subtractive colours. These colours exist in
nature in the form of dye, paint, ink, natural
colorants or pigments, etc. If we mix all the
subtractive colours it would turn black. The
physical properties of these colours are
different from the additive colours in many
ways. These colours can be touched, felt
and used for all our mundane purposes.
The primary colours in the subtractive colour
scheme are Red, Yellow and Blue (R-Y-B).
These are pure forms of colours from which
another subtraction is not possible anymore.
The rest of the colours in the world are
obtained by adding two primary colours
with each other proportionately. The set of
colours achieved through this addition are
categorised in two distinct sections such as,
‘secondary’ and ‘tertiary’ colours. While the
secondary colours are achieved by mixing
two primary colours of equal quantity, tertiary
colours are created by adding one primary
colour with its nearby secondary colour
equally. Colours such as, orange, green and
violet are the secondary colours and yellow-
green, blue-green, blue-violet, red-violet,
red-orange and yellow-orange fall under the
category of tertiary colour scheme. In all we
have only 12 colours — three primary, three
secondary and six tertiary colours. The rest
of the perceived colours in the nature are the
tints and shades of these 12 colours and they
are countless in numbers.

96. Which ray of light makes the object visible
to our eyes ?

{A) Incident ray
(B) Reflected ray
{C) Transmitted ray
(D) Perceiving ray

AdRetll JUHL WRAeL HAQA B, % U
ol el eolt sl 200 A8l s3AA A A s
29 oo, 2 200etl ellds opaeudll Gzl
290 ¢l uell dla uUctot B, L 10 2uel
53l asla B, wsjeidll Astal B wel wWuRL
i olllds 3qall W2 Gullot 541 asta .
oitesttSlefl 20 Dewettil WauMs 90 ce,
YAl s cledll (R-Y-B) 8. il 290al Ys
AW B, Bl ol cleotdl & s «12fl.
[@Qatott ot glett 200 Asollont WA YRR A
Ylaufls 200 GRAR RacctMi WA B, w1
UL GLRL Yl LA 1Moll UHsal A
AL [AeUNHE aollsd scuml WA D K
& ollerR@a) wa ‘gl 20t s otel
00 ALt HAW A Yalls 00 RBLA
53lal Yl B, s dldat 20 Aol
a2 sell el 201 ALt A As wulls
201 GRFla ololtaetMi vd B, oo, Al
el el Fal 200 otel 200 8§ wal Uldl-
dld, aeoll-dlA, cueoll-odncdl, cuct-
woel, cre-otRall wa Yal-ouRall qlda

1 Alegetiell ARMHL 2wd B. st Hullal
AUR WA oL 12 290 & — 3 yadls, 3
QL U & Jfdal 290, e/ Hi el Hatcll
ol Slotl 200 ut 290ett 32 Ao AsH B, wal
A 2Rlv dvHi B.

96. Uslal ol sell (3200 wetd A sl
MU ololtd 8 ?
(A) sexcdlsuzeusla (3ol (sall322)

(B) WRaldd (321 (flsAses ?)
(C) YR e alellEs 3)
(D) 28Rl oy (R (ullcdlar ?)
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97.

98.

100.

When all colour hues are dissociated
by the object except its original hue, we
perceive that object in its real colour. This
dissociation of colours is called

(A) Additive Colour Scheme
(B) Narrative Colour Scheme
(C) Deductive Colour Scheme
(D) Subtractive Colour Scheme

In subtraction colour scheme Black is
created by

(A) Mixing Red and Blue

(B) Mixing Red, Blue and Yellow
(C) Mixing Red, Blue and Green
(D) Black is a pure colour

The colours used in our day-to-day
mundane life in the form of dye, paint and
natural pigments are the subtractions of

(A) RGB (Red, Green, Blue} Colour
Scheme

(B} RYB (Red, Yeliow, Biue) Colour
Scheme

(C) OBV (Orange, Blue, Violet) Colour
Scheme

(D) RYG (Red, Yeliow, Green) Colour
Scheme

Blue-Green colour is a
(A) Primary colour
(B) Secondary colour
(C) Tertiary colour
(D) Additive colour

97.

98.

99.

100.

AR UELL gl dell Ho 23t
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